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(a) fix) = 5x*
f(x)=5x4G(x)=x5+C
(b) fix) = -9x™"
f(x)=—9x-10G(x)=x-9+C

d9aadl e JolSill
((11) driso rogd o il
Y] oMol o WS 2zl
(a) f6dx
6 dx=6x+C
(b) [x8 dx
Jx8 dx=18+1x8+1+C=19x9+C
(c) Jx3 dx
Jx3 dx=[x13dx=113+1x13+1+C=34x43+C=34x43+C
(d) S1x5 dx
[1x5 dx=[x-5 dx=—14x—-4+C=-14x44+C
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(a) [(x3—2x5/3) dx

J(x3—-2x53) dx=/x3 dx—2/x53dx=14x4-2(38x83)+C=14x4-3
4x83+C

(b) [(x3-2x5/3) dx

[(3x2—-6x5) dx=3[x2 dx—6/1x5 dx=3[x2 dx—6/x—15 dx=x3-6
(54x45)+C=x3-152x45+C
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(a) [x4—8x3x2 dx
[x4—-8x3x2 dx=[(x4x2—-8x3x2) dx=[(x2—-8x) dx=13x3-4x2+C
(b) f[(3x+2)(x—1) dx

[(3x+2)(x—1) dx=[(3x2—-3x+2x-2) dx=[(3x2—x-2) dx=x3-12
x2—-2x+C

(c) [x(x3-7) dx
[x(x3-7) dx=[(x4-7x) dx=15x5-72x2+C
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